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Show your work, label units, and all that good stuff.

Use the graph below in order to answer the questions that follow.

v (m/s)

Based upon this v vs. t graph, determine the

96

following: “
1. Initial velocity, v;; 96 /s
2. Final velocity, vig  0*/s

3. Acceleration, a: — 4 ™/s*
4. Displacement, Ax: _1152m
5. Average velocity: 48 ™[5

6. Specific equation: Y @)___ *‘16’{ 3 t+96 é/s)
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7. General equation: \fF: at+ V;:

6. For the above graph, describe the objects motion (be sure to explain its speed and acceleration).
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7. State/explain a real-world physicilgsituation that could represent the motion on the above graph.
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8. Draw the missing graphs based on the graph you are given.
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9. Compare the kinematic behavior of
objects A and B as represented in the

graph to the right.
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Comparison Explain how you know.
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a. Displacement from 0to 8 s A>B,A<B,o A=(2-8-%) +(3-2)= Hem
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b. Velocity att==6s A<B,orA=B
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10. The Tower of Terror ride at Disney’s California Adventure Park raises high off the ground and then drops

you for 3.50 seconds. Assume no friction or air resistance.
a) How fast would you be going when you hit the ground?
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b) How high was the ride when 1t release! you? v
OX = L3533 $£0.0 ,

o AX= Tatttvet = '-\3_(“?-%”‘/:;)(3'S’bl‘tz’c),ufz;s‘“3
11. While in the midst of a riveting discussion of free fall, Mr, Parent drops his whiteboard n\}arker from 2 m

high. - = A -9 Q¢
. Zen= 309 V)
a) How long would it take for the marker to land?
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b) What would the marker’s velocity be as it hits the ground? Assume no friction or air resistance.
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